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Home Work-3-
Pulleys & Gears
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Question 1:-                                                                 
Choose the correct answer:-                                   (5 Marks)
1.  The wheel to which an external force (effort) is applied is called the ----------------- wheel.
a) driven
b) Idler
c) drive
d) All the above
2. If we need to increase the speed of the pulley-belt system, we have to change the ------------------of the pulleys.
a) direction
b) belt
c) size
             d) Force
3. In the rope, chain, cable driven pulleys the -------------------- and --------------- are transmitted by mains of ropes, chains or cables.
a) force.
b) Rotational motion
c) length
d) both answers a & b
4. In fixed pulley As the rope is pulled down, the load moves up by the---------------------------------. 
a) Half distance.
b) same distance 

c) double distance.
d) None of the above answers.
5. In the movable pulley, the effort needed equal --------------the load. 
a) 1/4
b) 1/3
c) 1/6
d) 1/2.
6. In a compound pulley, if the load that needs to be lifted is 200 N what is the maximum effort needed.

a) 200 N

b) 150 KG

c) 100 N

d) 100 Kg

Question 2:- write (T) for true and (F) for false for the following statement:                                                                 (5 Marks)
1- If we want to increase the speed of pulley system, the big wheel has to be the drive and the small one have to be the driven.  (       )
2- The main advantage of using a compound pulley is it travels a very long distance.   (      )

3- Every two gears that mesh with each other move in same directions.(       )
4- In a moveable pulley, if the effort applied is 50 KG, then

 the maximum load that can be lifted equal to 100KG. (       )

5- The main function of Idler gears is to add spacing between the driver gear and the driven gear. (       )
Question 3:                                                               (4 Marks)
 Look at the image. Gear "B" has 40 teeth and gear "A" has 10. Calculate the gear ratio of this gear train if "A" is the driver.
[image: image2.emf]
What does this number tell us about the system?     
If "A" turns 4 complete revolutions clockwise how many times will "B" rotate and in what direction?
Question 4:                                                              (5 Marks)
Write the correct explanation (Gear system ,  Belt system, chain-driven pulley, rope driven pulley)    
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